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Given the reaction at equilibrium:
2C032-(aq) + HpO(2) == HCO3-(aq) + OH-(aq)

Which statement is always true?

A) The rate of the forward reaction equals the rate of the reverse reaction.

B) [CO327 is less than [OH-].

C) [CO327is less than [HCO3.

D) The rate of the forward reaction is less than the rate of the reverse reaction.

Given the reaction at equilibrium:

2C0O(g) + O2(g) == 2C0O2(9)

When the reaction is subjected to stress, a change will occur in the concentration of

A) neither reactants nor products C) reactants, only
B) both reactants and products D) products, only

Given the reaction at equilibrium:
A(g) + B(g) == AB(g) + heat

The concentration of A(g) can be increased by

A) adding a catalyst C) increasing the concentration of AB(g)
B) lowering the temperature D) increasing the concentration of B(g)

Given the reaction:

No(g) + Oo(g) + 182.6 kJ == 2NO(g)

Which change would cause an immediate increase in the rate of the forward reaction?

A) increasing the concentration of NO(g) C) decreasing the reaction temperature
B) decreasing the reaction pressure D) increasing the concentration of N2(g)

Given the reaction at equilibrium:
N2(g) + O2(g) + energy == 2NO(g)

Which change will result in a decrease in the amount of NO(g) formed?
A) decreasing the concentration of No(g) C) increasing the temperature
B) increasing the concentration of O2(g) D) decreasing the pressure

Given the reaction at equilibrium:
2S502(g) + O2(g) == 2S03(g) + heat

Which change will shift the equilibrium to the right?
A) decreasing the pressure C) adding more O2(g)
B) adding a catalyst D) increasing the temperature
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Given the reaction at equilibrium:

A2(9) + Bo(g) = 2AB(g) + heat

Which stress on the system at equilibrium will increase the concentration of AB(g)?
A) increasing the concentration of B2(g) C) decreasing the concentration of A2(q)
B) decreasing the pressure D) increasing the temperature

Given the reaction at equilibrium:

2S509(g) + O2(g) — 2S03(g) + heat

Which change will shift the equilibrium to the right?
A) decreasing [SO2] C) increasing the temperature
B) decreasing the pressure D) increasing [O2]

Given the reaction at equilibrium:

N2(g) + O2(g) = 2NO(g)
As the concentration of No(g) increases, the concentration of O2(g) will
A) remain the same B) increase C) decrease

Given the reaction at STP and at equilibrium:

Ha(g) + Cla(g) == 2HCI(g)

Which change will result in an increase in the concentration of Cla(g)?

A) decreasing the concentration of HCI(g) C) increasing the concentration of HCI(g)
B) increasing the concentration of Ho(g) D) decreasing the pressure of the system




